@ S . Thomas’ College — Gurutalatwa

“=* GRADE:- 8

MATHS

01) oibsHa UGB QM 2 BILLSHDET 6T(DSHIS.
a) 7,10,13,16,...... y eenee
b) 23,19,15,11,...... y eeenee
c) -8,-16,-22, ...... g eenaenn
d 6,12,18,....... y eeenne
e) -15,-13,11,-9,....... y e

02) Qurgl 2 _mIienu 61(1pSIsH.
a) 2,4,6,8....
b) 1,3,5,7,....
c) 5,10,15,20,...
d) 7,14,21,28,....
e) 1,49.16,25,....
fy 1,3,6,10,15,....

03) i) omes eeCsTevhEed CQUTH 2 MIIENL 6I(1DHIS.

i) 26 SoUFH QHBOB CTERIENENTE  HITEWIS.
i) 127 eibHmanumeis qQmenmeres?

04) 1) @yl el elemiBHTevSHA e QUITHI 2 BIlenLl 6T1(PSHIH.

i) 34 Suoug QUL L CIWENEID BHT6uITD.
iii) 356 eibHmanuiTals BJr enL  6T6m?

05) 1) &gy erewiBHTevhEH QUTH 2 mILIeHL 61(10HIS.

i) 17 Syuougl FHIT clewinemd HIEwIS.
iii) 576 eIhHmanLITEIH FHIJ 61607

06) 1) WdBsTeml 6IeWIBHTLVHHH CUTH 2 MI'IHL 61(1DHIS.

i) 15 Syoug (WW&HGHTEmT 6leMTENEMIdH HTENID.

iii) 55 eismemenwTasHl (1pHBHMET 61606 ?

07) i) Bemb 15CM, SiH6e0ID 9CM QBT CQFeIaIBHH HHBBETEN6IS BI6UID.
il) gaaaier &Bmene 48CM el DB @M UHE BoNGHMBHH BI6TIS.
iii) Oociousld @eilelr Homd 20CM DB G&BB6Ne] 74CM 6lailell DHE QH LbDH ABOGHMBH HI6HIH.

08) smpHE 5.
i. 17+(-5=
i. (-12)+(-9)=
iii. 15+(-8)=
iv. 9-15=
V. (24)-8=
vii 20-(4)=

vii.  (-23)-(-14)=
viii.  25-(17)=

ix. 12x5=

X. (-8)yx6=

Xi. (12)x(-6)=
xii. 25x(-3)=
xiii. 40+8=
xiv. 36+ (—6) =

XV.
XVi.

XVii.

XViii.

XiX.

XX.

(-45) =+ (—-9) =
(-48) + 6 =
12 x5

(-3) x 2

(-8)x(=15)

6 X (=5)

(-14) x .........

6 X (—=7)
(-24) X weeenee. =

= (-4)

72




09) GuT.&T.oU emuIs HTEIS.
a) 6x, 8x
b) 14ax, 28 bx, 35cx
c) 12ax?, 24ax, 30abx
d) 15ay, 20 bxy, 45abcxy
e) 8x2y, 20axy, 48ax’y?

10) snryeniiILGSHSIs.
a) 5x+15
b) 3x-12
c) 8ax-—12bx
d) ax+bx-cx
e) 2x?+ 8x -6ax
f) 5ax3+ 12 cx -2x2
g) 15xyz — 25xy + 20xz
h) 8a+4b+12c
i) 3ab-6ab+ 12ac
j) 6ab—8ab + 12ac
K)  Xyz+Xpq

11) smyeliuGsHsis.
a) X(x+3)-5(x+3)
b) a(a+2)+(a+2)
¢) 2a(3x-5)—(5-3x)
d x(x-8)+3(x-8)
e) 2a(3x-5y)+3b (3x-5y)

12) smées.
a) 3x+5y+2x-3y
b) 2a-6b-3b-a
c) 8ax + 3by -2ax + by
d) 2(x+5)-3(x-4)
e) 5(2x-3)-3(x+1)
f) 3(a-3)-2(a+4)
9)

13) wppeienio &Myewiaemed peVD GLIBIDTEIND HT6wIEb.
a) V169
b) V400
¢) V576
d) V484
e) /324
f) V256

14) QuuIoTeND HTENIE.
a) V2Zx3%2x52
b) V3% x52x 72
c) V22x32
d V2x2x3x3Xx5x5
) V2X2Xx2x2x5x%5
f) V3x3x3x3x5x5




15) quisvflelr Q&mLiTewL 6T(10HIS.

16) FEHITIQ FnlDLISSH I 6,
a) (WahIHM6T CTERINHIDD ..ouvevennen...
b) o sdmefen crewianlBENS ...ouenannennn.
C) ofefibLseled 6Te0TEMHEND ...vveneeee ..
d) quieofelr Q& TLTenL eUTUIIL] LITTES.

17) CenB@mreeit gesiTiomimsiT eTemel? ieuBHl6H,,

BIERsEIBE Wpamigeer (LPBHBIFHETT o FdlHei
&) GUTLOMRIH 61T QUIG6)BIGH6IT

alleMMbL |61

@uileofledr
OHmLiTL

6Q(LDMRISBT 60T
BT6HT(LPED)

FHITUPS]

Q(LDMmISBITEN
6TEUIT (P

Q(LDMIGITEN
LI65T607] (1 (LP &)

Q(LDMIGITEN
BrusIws

18) Qv Gauerl MWlis.
a) 3kg=................ g
b) 2kg350g=......ccceiiiinnn. g
c) 3.5kg=............ g
d) 0.75kg=..oooverrn. g
e) 6.850g=............... g
fy 7500g=............... kg
g) 700g=............... kg

i) 2.7t=............... kg
j) 4t650kg=................ kg
K) 3t580kg=......c......... t

a) 3kg 3509 + 8 kg 7809 =
b) 5kg 3509 —3kg 800 g =
c) 4t 750kh + 7t 695kg =
d) 7t350kg— 3t 785kg =
e) 6kg750g x 12 =

f) 5t865kg x 25=

g) 18kg340g +~15=

h) 9t850kg +4=

20) x=-3,y=-2 erafleir LNeioAHEUMTUBASSHT GUIBIOTEIHMDSHDH BTN .
a) X*+xy-y?
b) 3x+4y-—xy
c) 5x+5y-—2xy
d) 3x(x-2y) -2y (2x +3y)
€) X (3x—2y)—xy (x—3y)







